l T QraTsh A / New Syllabus |

T TE W) TN 174646=29 | [ T qfka 7 )t dom : 19
Total No. of Questions : 17+6+6=29 | [ Total No. of Printed Pages : 19

K-202301-A
fawg . dEyTE

Subject : Accountancy

Y ; 3wee ) [ qoi® : 80
Time : 3 hours | [ Maximum Marks : 80



https://www.studydiscuss.in

wyeagol Prder : () wE-Tx @ vl F feafa 8— (), (%) @@ (|))

Important Instructions : Question paper is divided in three Sections—<(A), (B)
and (C).

(i) W (37) F vt v va FE A €
All questions of Section (A) are compulsory.

(iif) g (A) @ (|) ¥ A i W U wvE 7@ wn
Solve any one section from Sections (B) and (C).

(iv) Y% TvE & ot vel & I @ § R ® ol
¥

Write all answers of each section in same place.

(v) fvwam w-dm w1 v fad Agifrer wai % fag 8
Maximum word-limit is only for the theoretical questions.

NM-43 A P.T.O.
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(2]

WUE-( 31 ) / Section-(A)

Wt Gt war sl % fong Srate
(Partaership Firms and Company Accounting)

Prdor : WUE-(H) & ot v aft vhwfeld & forg st € v waim 1 A 6
T e eda A ¥ s v W1 i Pl §) s e w1 I
1 1 1 AR | A A At v ot €

Instruction : All questions of Section-(A) are compulsory for all students. Question
Nos. 1 to 6 are very short answer type questions carrying 1 mark each.
Answer these questions in / word or / sentence and also include objective
type questions.

TFre WA
Objective type questions :
WH-1  URER W0 & v F Al ¥ am-eRi s R e - (1]
(3 ot arqura o '
(#) =M e
(®) w9F s &
() Q=
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In the absence of Partnership Deed, profit/loss is distributed among
partners :

(a) in capital ratio

(6) in sacrificing ratio

(c) inequal ratio

(d) None of these

s FarftR € :
(37 ward

(%) o

(9) d9es

() A o et
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Owners of a company are :
(a) Shareholders

(6) Debenture-holders
(c) Directors

(d) None of these

i (o
NM-43 A

13]
Uyr-3 el ¥ O wven v, sl & few an O sfsz frmwar €2 1)
(37 &% am
R UK
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() e

(?) = =™

Realization profit is credited in partner’s which account?
(a) Bank A/c.

(b) Capital A/c.

(c) Revaluation A/c.

(d) LoanAlc.

ot fra TR N defa d?
What type of asset is Goodwill?

$oft v fazs Afva sinmimwa 2
In which side of balance sheet capital reserve is shown?

1y
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-6

Lt

o WRER 3t 31 ufe W o R fsm e €2 "y
To whom the duec amount is paid in case of dcath of a pastmar?

: WA w7 A 10 7% aeedy v T vls v w3 a fndiie £o s
» sifean wez-dm so v &

Instruction : Question Nos. 7 to 10 are short answer type gucasions. Each qusstien

carries 3 marks. Maximum word-limit of answer is 50 wasds.

@ R A 20 ¥ I 25000 T 3w Fela Ry el wibe g
W 7 1 S N e F ot wiie SR {1 e 4=3]

A company issued 25000 equity shares of Rs. 20 each. All the
amounts have been received in lump-sum. Pass Journal Entrics ‘in
the books of the company.
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7 fafez 3 100 7. I 3w 10% Wiy w Prifta feg 9, i ™
WHR 91—20 §. AA&ATT |, 30 $. AWz W (Mfirgy wfea) a1 20 5. 99w
Wi 921 Sweite S 50 3w 1 Wi €, 3 A 3R W A w1 e
T fF | FR A 39 3w o WA S ) gew ¥ siveor w A
wr arent wiafeal sifeg) 3]

Jain Lid. issucd equity shares of Rs. 100 each at 10% premium.
payable Rs. 20 on application. Rs. 30 on allotment (including
premium) and Rs. 20 on first call. Ashish, holder of 50 shares failed
to pay allotment and first call money. His shares were forfeited.

Pass Journal Entries related to forfeiture of shares in company’s book.

T UHER F 7AW 33 F EvEma F 9 FRw fafeag) [1+1+1=3}

Write three reasons to give admission 1o a new partner.
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uyR-10 v fafazz 3 o @3 1,90,000 5 ¥ &0 w3 wfoee @ey
100 % AT 319 5% ®Ze R frifia fovw 1 wort #t gl F savas s
wfafeal #ifag) [1+2=3}

Ashish Ltd. bought a building for Rs. 1.90,000. As its payment it
issued equity shares of Rs. 100 fully paid at 5% discount.
Pass necessary entries in the journal of the company.

fdr : W WHIE 11 T 12 Feid 79 € iR@E vE W 4 3w P € v@w
T R Aol faweg €1 I 5 sifemmm w=-dm 75 = 8

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question
carries 4 marks and has internal choice. Maximum word-limit of answer
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is 75 words.

w-11 &P AeE 3R av-wiita s o st fafag (s W) ) [1+1+1+1=4]
Differentiate between Sacrificing ratio and Gaining ratio (any four).
rerar
OR
AR # =T ar favwasl ) aagmw)

Explain any four characteristics of Partnership.

NM-43 A
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WN-12 4, B 3 C v ¥131 =, 2018 W v faga Freefafem o

LUt
(%.)

1,200

_r

2,650
3,780

220

8,250

1 38, 2018 | ¥ D W WER 7 TR ¥ v 2§ fag e wl w
T T

(7)) &€ 1,500 ¥ T ¥ ferg e 1,800 ¥, Toft & forg v wvdrm

(i) TR O et e wEm: 950 € 3R 380 . lE W

(iif) Y W Y 450 ¥. G T4 |

FY-T1f ERE W IR | (4]
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A, B and C arc partners. Their Balance Sheet as on 31 March, 2018
was as under :

Liabilities Amount Amount
(Rs.) (Rs.)

Creditors
Capitals :
A - Rs. 2,000
B -Rs. 1,750

C - Rs. LL500

NM-43A

P.T.O.
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On Ist April, 2018, they admitted D for equal shares on the following
conditions~

(/) He will bring Rs. 1,500 for Goodwill and Rs. 1,800 for Capital in cash.
(if) Machinery and Fumiture were valued Rs. 950 and Rs. 380 respectively.
(iii) Value of stock be increased by Rs. 450.
Prepare Profit and Loss Adjustment Account.

aar
OR
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™ AR wm o A aReR €11 I, 2018 B I Soht
25,000 F. 3R 20,000 %. ot 1 ¥ Polt W 8% wha of = ? = fem
RN & A I GO W 12% ST I wen & 109 X 1 yens, 2018
W 10,000 T. W # W ¥ w4 F XY wmw 5,000 T ffE A9 W
et ¥ 1 37 IOl W ™ THHW: 600 F. A 500 T. TN VAT 31

fEwwr, 2018 ® wara ad w5 T v wEREeE ¥ g4 25,000 . 91
2018 T EW-¥I Foraror wrar Q)
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Ram and Shyam are partners in a firm whose capitals on 1st January,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are allowed
interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as a loan on 1st July,
2018. Shyam is entitled to get an annual salary of Rs. 5,000. Interests
charged on their drawings were Rs. 600 and Rs. 500 respectively.
The profit for the year ended on 31st December, 2018 before
making above adjustments was Rs. 25,000. Prepare Profit and Loss
Appropriation Account for the year 2018.
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e

frdyr : WE WA 13 ¥ 18 7% Sdsuly v €1 W v W 6 3w Pdifa €
TR W R At frsea §)

Instruction : Question Nos. 13 to 18 are long answer type questions. Each question
carries 6 marks. Each question has an internal choice.
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wer-13 W ¥ L, M 3R N v & amer €131 REag, 2014 8 A B R
® ) va faf 9T 3R 20,000 T X9 &) 3% Prola forn v Rs Ty ofe
5,000 3. ¥ Wit gro vt =f Yyram = wEh ) v PR 1 Wl
2015 ® frm 7 A W o S PRA ff 1 Rl R YT M S
Iaufesrl # g 2 WA, 2017 B N 7§ 3R A Wl I W%
affs N A = v RN i afis s Em R [2+42+42=6)
L, M and N are equal partners in a firm. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20,000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. The first payment was made on st January, 2015
and other payments were also made on 1st January every year. On
2nd January, 2017 his legal representative died. Interest was allowed
@ 6% p-a. on balance amount. Prepare Annuity Suspease Account.

aw
OR
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X, Y3l Z us o & arer €, @ ani-wif e 3:2: 1 % s

# s@ €)1 1 wad, 2004 ¥ X ew W s@ §) W Rt w A

20,000 %. 27 o} | 3% fieia for T fis 9% T 3,000 & & T U

P ¥ AR | T A 1 W, 2015 B e e aw i S

WRA W 1 T ) fea T 2 v, 208 B XN RO IR

i T il A R 6% Wik 7 A = F o N L

i) 391 T IR [1%+1%+1%+1Y%=6)

NM-43A PrT.0.
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19]
X, Y and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.0n Ist January, 2014, X retires from the firm. On this
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on Ist January, 2015 and other
payments were also made on Ist January every year. On 2nd January,
2018, X died. Interest was allowed '« 6% p.a. on balance amount.
Prepare Annuity Suspense Account.
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WA-14 X 3R ¥ & i F wmier € 1w ¥ fwe w Prefafes st ¥ fag
Yot wiafeal sif : [1+1+1+]1+1+1=6]

() % ufafe wfa # aget uf 8,000 5.1

(i) TTRR N 3,000 F. TR N TH

(iii) @y foR Tel Wl A wEifa fem g €, 2,000 5§ &= T
(iv) fafEri | 10,000 5. TGS gU

(v) faee =3 % 800 5. y@g T

(vi) e WA ¥ W9 6,000 F. X 3l ¥ 3 : 1 ¥ fanfa frm wman €
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X and Y are partners in a firm. Pass Journal Entries when the firm is

dissolved on the following conditions :

(/) Amount realized from an unrecorded asset Rs. 8,000.

(i)) Rs. 3,000 were paid in cash to creditors.

(7if) Stock transferred to Realization Account was sold for Rs. 2.000.
(iv) Rs. 10,000 were realized from investments.

(v) Dissolution expenses paid Rs. 800.

(vi) Profit on realization Rs. 6,000 is shared by X and Y in the ratio
of 3:1.

NM-43 A

191
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& W % ez ¥ Frafafen gl | doft wfafieal sifag
() T Hfafea defn | ag@ gan 1,500 %. |
(ii) agER =2 & 1,000 T. FHT

(iii) TRR R ageh aR § wEiafia fem o g ¢, @ 48,000 ©
aqe f&a

(iv) 7,100 %. &q ®1 T Ford aget am F wEnia fem I
£, ¥ % WRER B ¥ 5,000 F. F & foran

(v) Rl ageh an ¥ wriafa fem s g% 8, 130,000 F. YA
faan

(vi) SIER TR AN 12,000 %. B 3R D # 7 : 5 ¥ srquw ¥ Wl wn
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T IS SRaa—a—ahh  h S SSSSSSSSS.

Pass Journal Entries on the dissolution of a firm from the given
informations :

(i) Rs. 1,500 realized tfrom an unrecorded assel.
(i) Paid dissolution expenses Rs. 1,000.
(1if) Debtors transferred to Realization Account realised Rs. 48.000.

(iv) Stock Rs. 7.100 wransferred to Realization Account was taken
over by a partner B for Rs. 5,000.

(v) Creditors transterred to Realization Account paid off Rs. 30,000.

(vi) Realization profit Rs. 12,000 to be distributed among B and D
in the ratio of 7 : 5.

wA-15 ¥ fafteE A 100 . I 4000, 5% FWOYH 10 & Wfa oy Wifiw |
= weR friftva fisg— amdEa W 20 3., 3Rz W 50 ©. (Yifiraw wfea)
a1 ¥ green ) A o ¥ farg s W g wvi of qurer
W § 7§ | e # gt o doft whafest Sifg) [141+1+1+1+1=6]

c o DTN

-
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Jain Limited issued 4000, 5% debentures of Rs. 100 ecach at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.
Applications were received for all debentures. All money were duly
received. Pass Journal Entries in the books of the company.

T
OR
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OR

e fafirE 3 10 T T 10000 W 3w, 2 3. WY W Wi |
frifira feg ofe frer YR 39 A—aATT W 3 5. WA 3, AR W S
% (Viftrm wfia) iy sta aw ¥ v | ol O qures e 9
| e F qer! ¥ ol wfafeal ifg)

Goyal Ltd. issued 10000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. Amount payable—Rs. 3 per share on application.
Rs. 5 per share on allotment (including premium) and balance on call.
All amount were duly received. Pass Journal Entries in the books of

the company.

o : W HEE 16 W@ 17 ToRas v €1 1% v W 8 3w Fiife € W e
A R SAiafs fawea §

Instruction : Question Nos. 16 and 17 are numerical questions. Each question caries
8 marks. Each question has an internal choice.
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;!-16 o fafties & 3 10 5. 9@ 10000 37w, 4 3. v 3in Wifikm R Friftm
w1 ufe ey wer st o -

AT W 4 3. WA 3w (fw 1 %)
WZA W 3 3. W 3w (w1 %.)
T I W 4 . vy 3w (s 1 %.)
3iftw e R 3 3. wfy stw (w1 %)

) ol T W W 9 ) SR et F sravas wee wiafedd
Lo o fl [1+1+1+1+1+]1+1+1=8)

_—_—
NM-43 A

RN

A limited company issued 10000 shares of Rs. 10 each, payable at
premium of Rs. 4 per share. Amount payablc as :

On Application Rs. 4 per share (including premium Re. 1)
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On Allotment Rs. 3 per share (including premium Re. 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)

All amounts were duly received. Pass necessary Journal Entries in
the books of the company.

OR

wom faftiee 3 100 5. a@ 10000, 8% =y Frifim fFg) s W
10 ¥, 3RZA W 20 ¥., W99 91 W 40 . a91 3w green W 30 5. ufy
WIS HI X A v wift ) it oferl qurr wra @ W)

S # gl ¥ v wiafel wifg)
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Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount

payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first
call and Rs. 30 per debenture on final call. All amounts were duly
received. Pass Journal Entries in the books of the company.

WA-17 X 3R Y e v i aier § ol ev-wf W fiee 301 & s s
t 1390 31 REw, 2017 % aRed T O W Free fwa I
faza fergaR @
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112

wefedl |/ e ageh g8

292N 900 %., U 18,000 T. AYT W& 7,200 §. | TSR *
: ; . . : yrar o
2,600 ¥. f&an T, agER =4 500 F. YW ¥

e T & WRER %1 Jeit W T | [5+3 8]
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X and Y are partners in a firm sharing profit and loss in the ratio of
3: 1. They decided to dissolve the firm on 31 December, 2017. Their

balance sheet was as follows ;

Cash at Bank

Creditors

General Reserve Debtors 1.000
Y's Loan Plant 19.700
Capital : X Rs. 12,000 Buildings

Y Rs. 12.000

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7.200. Creditors
were paid Rs. 2.600 in full settlement. Dissolution expenses paid Rs. 500.

Prepare Realization Account and Partner’s Capital Account.

aar
OR
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OR

W, w9 3R A o v F aer ¥, S a-wift w faseE s,
3R 1/6 % s F wd §1 31 REw, 2016 B 7w fagar Premer @

Il S el -
(%.)

63,600

NM-43 A
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YA 3 I & asm gew feg au @ daw o Frefafes aarem
ffrea gy :

() Y& T 10% e F Q)
(i) wEH R 5% v sfefem i W)
(ifi) TR W 5% WG WO TG TR WY
(iv) " ) ol 1 551 12,000 %. €

s 31 fEEw, 2016 B riwaE w3k Tt & ot amn wmE

t [4+4=8]
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Ram, Laxman and Bharat are partners in a firm sharing profit and
loss in the ratio of /2. /3 and Vs respectively. On 31 December, 2016
their balance sheet was as follows :

Liabilities [ Amount [ Assets Almmnl_'1

_ (Rs.) (l}l-) i
Creditors 8,000 |Cash 15,600
| Bank Overdraft 3,600 |Sundry Debtors 13,000
General Reserve 12,000 | Stock 17,000
Capital : Machinery 3,000
Ram - Rs.20,000 Furniture 3,500
l.axman - Rs. 10,000 Buildings 11,500

Bharat - Rs. 10,000

Bharat retired on that date and following adjustments were decided :
(/) Value of Stock was increased by 10%.

(i) Depreciate Machinery by 5%.

(iii) Create reserve for bad debt at 5% on debiors.

(iv) Value of Goodwill of the firm is Rs. 12,000.



https://www.studydiscuss.in

farefta Rl wr v
(Analysis of Financial Statement)

fdor : W wHiS 18 @@ 19 Afveygsaiy va €1 va&w v\ W 1 3w fifa $

Instruction : Question Nos. 18 and 19 arc very short answer type questions. Each
question carrics 1 mark.

wa-18 W fawey g ]
Choose the correct option :

anfdw fazar e ¢
(37) dqfegl = faarm

(%) fael =1 faaoo

(%) feufa faao

(?) ™

Balance Sheet is called :

(a) Siatement of assets
(b) Statement of liabilities
(c) Position statement

(d) Income statement
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WT-19 WIS SF9E Tor ¥ g fefen ]

Write the formula to calculate current ratio.

Fdor : W HHi% 20 ¥ 22 7% Sy vE €1 @S v W 4 i fifa €
Y% W R Al faweq €

Instruction : Question Nos. 20 to 22 are short answer type questions. Fach question
carries 4 marks. Each question has an intemal choice.
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WH-20 U%E vaw e &+ 9R Itwd fafeaq [1+141+]1=4]
Explain any four objectives of Cash Flow Statement.
v /aar
OR
U%g vam faa sl s yamg o 3 377 fafag (€ w0 |

Differentiate between cash flow statement and Fund Flow Statement
(any four).

NM-43A
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wm-21  Freafafem faeol @ ywem ¥ wra g ¥ o Sifeg 14]

ad 2016
fyaror

H_-_ . _-_( ‘- ) (‘- )
TR 12,000
3T =Y 3,000 1,000
Ty =y 2,000 2,500
AR _ | 13,000 15,000

¥ 2017 & o= =W §3N 25,000 F. |

From the following information. calculate Cash Flow from operating

activities :

| | Year 2017 Year 2016

Particulars (Rs.) (Rs.)

Debtors

Outstanding Expenses 3.000
Prepaid Expenses 2,000
Creditors

2,500
15.000

Profit during the year 2017 was Rs. 25,000.
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(16}
Calculate Cash Flow Statement from the following information :

31-3-2017 31-3-2018
Particulars
(Rs.) (Rs.)

———

Profit and Loss A/c.
Debtors

Outstanding Rent
Prepaid Insurance
Creditors
Goodwill

wyv-22 froefafes gensii @ e e 7@ wifag : (4]
WY (V%) 26,000 ¥, TTER 20,000 ¥., WA fagx 6,000 &, Afim
& YHAI 3,000 T, TG THF 20,000 T., AR 30,000 ., 39 faax
18,000 ¥, ¥=% Hfufasd 2,000 %.
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From the given information, calculate Current Ratio :

Stock Rs. 26.000. Debtors Rs. 20.000. Bills Receivable Rs. 6,000.
Advance Tax paid Rs. 3.000. Cash in hand Rs. 20,000, Creditors
Rs. 30,000. Bills Payable Rs. 18.000. Bank Overdraft Rs. 2.000.

Jrerar
OR

=1 gEiall @ @ 79R F e Ffa

] 394 1,40,000 5., HRfviE Joft 1,80,000 %,
¥ER 3,000 %., B+ 1,10,000 &.

Calculate Quick Ratio from the following details :
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Frder . WE wEE 23 dnfzwin we §) W TR W 6 Iin Fifm € am s
faweg 3o €

Instruction : Question No. 23 is long answer type question. This question carrics
6 marks and it has an intemal choice.

uyA-23  fadrg fraoll ¥ favdrao ¥t dd s (9 92) ) [1+1+1+1+1+1=6]
Explain the limitations of analysis of financial statcments (any six).
Srerar
OR

firdirg faraol ¥ favdiTor 1 TE WY (P 5) |
Explain the importance of analysis of financial statement (any six).

wWogE-( |) 7/ Section{(C)
HOE WS

(Computer Accounting)

fder : mmn«wmmmt.mmmmmm

Instruction : Question Nos. 18 and 19 are very short answer typc questions. Each

question carries | mark.
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urr-18 Wl fawen qf 1]
Choose the correct option :
DBA g ¢ :
(37) TEREAY F AR

(%) weRw e

(%) IRRE gt
(7) wreeE Ehr

DBA is called :

(a) Base of Database

(b) Database Application

Administration
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UYT-20 AW YAy yorelt ¥ fafie sipwanit #) sawne (R W) ) [1+1+1+1=4)

Explain various applications of Database Management System (any four).

AT/ OR

TR YUY Yorel! ¥ Wi AR Y e

Explain any four advantages of Database Management System.

wyA-21 e faan-ua %1 ¢ wr fadmand fafeg) [141+1+1=4]

Write any lour characteristics of Electronic Spreadsheet.

et/ OR

R faam-v3 %t $1 ) Ivafand faferg)

Write any four utilities of Electronic Spreadsheet.
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M-22 X % R wR vy frdvanil w) v [1+1+1+1=4]
Explain any four main characteristics of computer.

WS/ OR

S B SR & AR wiew e
Explain types of computer on the basis of functionality.

_—_—mmmmm————
NM-43 A
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foefor . W s 23 Ynfzwln v € 1 v T W 6 i Pl €)1 v e R st
fwen €1 T ¥ sfvwsos we-dw 125 W €

Instruction : Question No. 23 is long answer type question. It has been allotted
6 marks. It has an intemal choice. Maximum word-limit of answer is
125 words.

wm-23 sl f weR & Sl 5w dieiw 39 A o @ F T W
fofag (X w) | [1+1+1+1+1+1=6)

Write the points which should be kept in mind before taking any kind
of accounting package software (any six).

Nuwr/ OR
-0 & w2 W v (o )
Explain the factors of Pay-roll (any six).

Sapenteaed
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[Hﬁﬁﬂ‘ araash A / New Syllabus ]

FO WA F WA : 17+6+6=29 |

Total No. of Questions : [7+6+6=29 |

|quyg : 3 woe ]

Time : 3 hours |

[ T gfEa 7o # w19
[ Total No. of Printed Pages : 19

K-202301-B
fawa : rEyTE

Subject : Accountancy

[ qurie : 80

[ Maximum Marks : 80

qgergol fAqer

Important Instructions :

(ir)

(iii)

(iv)

(v)

yE-94 5 @vEl F fawifse §—(31), (/) @ (@)1
Question paper is divided in three Sections—(A). (B)
and (C). '

T@UE (37) & ot WA T O SfEd B
All questions of Section (A) are compulsory.

T (¥) T (F) ¥ A 3 Wt uw @ T wen

Solve any one section from Sections (B) and (C).

T T8 & W T F I W @ we W e
=nfgq -

Write all answers of each section in same place

b T=-H H e s Agiftes wel ¥ fore £

M * _Yiamdt s
aximum word-limit is only for the theoretical questions.

NM-43 B

DTN
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frder

Instruction

(2]

WUB-( A ) / Section-(A)

el Wl war St % g S
(Partnership Firms and Company Accounting)

: w—(a)*mﬂmmﬂmtfmaﬁaﬁtlmm1ﬂa
wmmtlmmm1mﬁtﬂmtlmmwm

19 91 1 e ¥ 3 & A wge v ot §1

: All questions of Scction-(A) arc compulsory for all students. Question

Nos. 1 to 6 are very short answer type questions carrying | mark each.
Answer these questions in / word or / sentence and also include objective

type questions.

TS W

Objective type questions :

-1

NM-43 B

[RERY § TR 1 gifae g ¥

(3 wfim

(%) wifma

(®) o o Wi

(3) @A+ T

Liabilities of partners in partnership is :
(a) limited

(b) unlimited

(c) limited up to extent of capital

(d) None of these

7% it forerd sxferes aill 1 Frfe T o o waan, et ®

(o) T o

(@) afem Pot

(w) g T

(?) frifa &t

The capital above which shares cannot be issued, is called :
(a) paid up capital

(6) called up capital

(c) authorized capital

(d) issued capital

(1]
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Tl W8 e v b arga ¥ ata ¢ 2
(37) & TRy S o | -
(®) o amren e 3
(%) = s 3
(3) WiRe s A

In which ratio the profit on revaluation is distributed?
(@) New profit-loss ratio
(6) Old profit-loss ratio
(¢) Sacrificing ratio
(d) Gaining ratio

TR 1 Yot wo e € @ s ? (1]
Whether registration of partnership is compulsory or optional?

wiea gt ot R % wif o aendt € 2 [1)
When does a company can call the reserve capital ?

e R s €2 1]
What is super-profit?

: W HA® 7 /10 T wgIeta v €)1 e v W 3 3% PR 13w
! Afuan T=-dm 50 v ¥

Instruction : Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

A % 718 100 T, I 50 3w A, T T I HATT W 30 T, AREA W
20 T, RF] 7% YW A1 W 30 T, W 3W 1 YR T 5 W | WAl
N Ta gl o T =X T | 3TN ¥ 0 F day F veh wiafeat St [3]

Rohit had 50 shares of Rs. 100 each, on which he paid Rs. 30 on
application, Rs. 20 on allotment but failed to pay Rs. 30 per share
on first call. The directors forfeited his shares. Pass Journal Entries
regarding forfeiture of shares.

-1 el F et e R ek (W At 2 - [1+1+41=3]
In which conditions Revaluation Account is prepared (any three)?

NM-43B
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fder

Instruction :

-1

(4]
T X w Wi 11,000 3 F Y fafirs @ @ian w9 920 =1 yom
toos.qeq%u% HIGH! gRY Wi o9 10% Wifaaw W frifra fmam)
HER # Tt ¥ e st Fif)
Ranjana bought a machine for Rs. 11,000 from ¥ Limited. Purchase

consideration was decided to pay off by issuing 12% debentures of
Rs. 100 at 10% premium. Pass Joumnal Entries in the books of the

company.

AN fAfes ¥ 10 5. 9 15000, 12% YRieFER sfw s § Frifm
o) wopd T v wiwr @ ) SR F Tet F sefe fafedd

[142=3]

Fifena) [1+1%=3]

Lokesh Limited issued 15000, 12% preference shares of Rs. 10. All
the amount have been received in lump-sum. Pass Journal Entries in
the books of the company.

: W WIS 11 T 12 agEaia 7 €| 9@% 9 W) 4 3w fife € vl

W W At fawey ) 3w =t sfusan w=-dim 75 =2 &4

Question Nos. 11 and 12 are short answer type questions. Each question

carries 4 marks and has internal choice. Maximum word-limit of answer

is 75 words.

T 3R W T FH F aRRR €1 1 S, 2018 I $6 waw:
25,000 ¥. 31X 20,000 %, of | ¥ Yoit W 8% Wiy T #F < A =qr fry
S & T I A T 12% S T wn # 1T Y 1 ge, 2018
H1 10,000 T FH W WY F T ¥ KU W™WH 5,000 3. Witw 0w =
Sl & | 37 SN T =T FAN: 600 T. T 500 T. TR 71| 39
TR, 2018 1 FArE T 1 v IR FARESE % 9F 25,000 . o1 T4
2018 &1 TV-TIf Frdier @ s Q)

Ram and Shyam are partners in a firm whose capitals on 1st January,
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are allowed
Interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. 10,000 to the firm as a loan on Ist July,
2018. Shyam is entitled to get an annual salary of Rs. 5,000, Interests
charged on their drawings were Rs. 600 and Rs. 500 respectively.
The profit for the year ended on 31st December, 2018 before
making above adjustments was Rs. 25,000. Prepare Profit and Loss
Appropriation Account for the year 2018.

[4]

NM-43 B
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A, B 3 C wmer 131 ud, 2018 ® I faga Prefafem ar ;.

= afr weafrat it

(%.) (%.)
RN 3,000 | Wi 1,200
Toft - T 400
A - 20007 &Y 2,650
B - 1,750%. TR 3,780
C - 1500%. 5250 | %% 220

8,250 8,250

1 3, 2018 M X D # T = T ¥ w3 33 & fog Pr wil W

weTa o §—

(i) ﬂ1,smt.thN1,mtim#Mﬂmmn
(i) it e TR W e FE: 950 T, 31 380 . e T |
(i) RS T IE 450 T. WG AN
AV-wif TEreE S Y |

A, B and C are partners. Their Balance Sheet as on 31 March, 2018

was as under :
Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 3,000 |Machinery 1,200 |
Capitals : Fumiture 400
A-Rs. 2,000 Stock 2,650
B-Rs. 1,750 Debtors 3,780
C -Rs. 1L500 5250 |Cash 220
8,250 8,250

On 15t Apil, 2018, they admitted D for equal shares on the following

conditions—

() He will bring Rs. 1,500 for Goodwill and Rs. 1,800 for Capital in cash.

NM-43 B
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Instruction :

wm-13

(6]
(if) Machinery and Furniture were valued Rs. 950 and Rs. 380 respectively.

(iif) Value of stock be increased by Rs. 450.

Prepare Profit and Loss Adjustment Account.

S AR T-wifta s o st fafag (F 901 [1+1+1+1=4]
Differentiate between Sacrificing ratio and Gaining ratio (any four).

Hear

OR
WREH 1 AT wr fadramel = wawme)

Explain any four characteristics of Partnership.

: W HAE 13 ¥ 15 7% sty v € TS v W 6 3w Praifa €
TRE T W i fawea €

Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

Tirre faftize X 10 T AR 10000 TN 3w 2 %, Wfa 3t Wftvey w frifim
feq) ofn Pet R 39— W 3 5. why 3w, sz W s
(st wfem) wf siw oo ¥ T WA o qeneT W @ )
R ) gerst F dof il 3t [1+1+141+1+1=6]
Goyal Ltd. issued 10000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. Amount payable—l!;.‘.’opershareonapplication,
Rs. 5 per share on allotment (including premium) and balance on call.

Mlmmwm@wmﬁvﬁ.?mlmmmmthebmhof
the company.

NM-43 B
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Srerar
OR

I fafiree % 100 . A 4000, 5% Forex 10 5. Wi o Mitew v ey
v frrifir farg — 3tz W 20 3., 3Rz W50 5. (ftrm wfem) T
I W R e ¥ ) SR e g i o e v R
T 1 YA g ¥ e whafel Fifag)

Jain Limited issucd 4000, 5% dcbentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable Rs. 20 on application.
Rs. 50 on allotment (including premium) and balance on call.
Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

w14 ww i ¥ fawes ¥ foofafen gEEel @ o wfafedt
FT:  http://www.cgboardonline.com [1+1+1+1+]+1=6]
() = Hfefea gufa § a9 g3 1,500 . |
(i) TGER =@ F 1,000 . FHC|
(iii) TR foR agel @R ¥ wFiaRa fan o 9% §, @ 48,000 ®.
Tga formn |
(iv) 7,100 T. Yea W Tefom ol wgelt @n A waFiaf 5 s 3@
¥, T & 9EER B 5,000 %, ° & faan)
(v) SRR age an o wEiafa fea s g e, 130,000 %, YEAH
fea
(vi) uqﬁtm%mérm 12,000 5. B 3l D ¥ 7 : 5 ¥ gura F afer w|
Pass Journal Entries on the dissolution of a firm from the given informations :
() Rs. 1,500 realized from an unrecorded assel.
(ii) Paid dissolution expenses Rs. 1,000.
NM-;S B P.T.0.
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8]
(iii) Debtors transferred to Realization Account realiscd Rs. 48,000,

(iv) Stock Rs. 7,100 transferred to Realization Account was tuken
over by a partner B for Rs. 5.000.

(v) Creditors transferred to Realization Account paid ofT Rs. 30,000.

(vi) Realization profit Rs. 12,000 to be distributed among B and D
in the ratio of 7 : 5.

uar
OR

X 3y o v & wjen § 1w ¥ fawe w Prefaforn sraerl ¥ g
it wiafeal st .

() = amisfe wfa % ageh oftrs,000 3. |

(if) SRR W 3,000 7. T F Y

(iif) W TR wrgeht am ¥ vmiafta R o ww g, 2,000 %, F A T
(iv) Pl @ 10,000 ¥. IFH Y|

(v) fower =¥ 800 . W MY

(vi) et A i 6,000 7. X 3t Y ¥ 3 : 1% frafta frm wran £

. L

Xandruepmminlﬁm.PmJunmlEauiuwhcnthcﬁmis
dissolvedonmefol!o“fing conditions :

0) Amomtm]izedﬁ-omﬂnlmrecordedml!s. 8,000
(#)) Rs. 3,000 were paid in cash to creditors,

(iii) Stock transferred to Realization Account was sold for Rs. 2.000
(iv) Rs. 10,000 were realized from investments.
(v) Dissolution expenges paid Rs. 800,

(vi) Proﬁtmwinﬁmh.ﬁowisﬂmedbyk'md }'intheuﬁoors 1.

NM-43 B
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19)
AR K VAV VE: N =0eR % wmerer €131 Rewia, 2014 w) o w5y
8 ) 78 fafy w3 20,000 ¥4 29 ﬁli'ﬂtﬁﬂhﬁmwﬂwmuﬁ.
5,000 3. Wt A gR1 wfa 3 syrar =% e | wom YA 1 e,
2015 Y fm T Ty Wiy = T A o 1 I W) ey e pd
ST Y gy 2 swEd, 2017 ¥ ) o il A e,
wﬁﬁﬁmﬂmaﬁmaﬁmtmﬁaﬁmmwn
L, M and N are equal partners in a firm. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20.000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. The first payment was made on 1st January, 2015 and
other payments were also made on 1st January every year. On 2nd
January, 2017 his legal representative died. Interest was allowed @
6% p.a. on balance amount. Prepare Annuity Suspense Account.
Hear
OR

X. Y 3R Z o o ¥ wen ¥, S an-wt e 3:2:1 % s
A F@ €11 I, 2014 FY X EHW TRV w0 €1 56 ot W 3
20,000 %. 27 4t g Fvi forar w7 fs g% ofdn 3,000 5. =t afifsh g
YA WA | WYH Y 1 SE, 2015 F e g vy ad s
YA st 1 IeEd S R T 2 SEd, 2018 B R g @ wwh )
Wit o it A9 W 6% it F | = w ToE R ol § i

[2+2+2=¢)

I W TR [1%+1%+1%+1%=6]

X, Y and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.0n lstJanuuy,ZOM,chtiresﬁ'ommeﬁ:m.Ondlils
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on 1st January, 2015 and other
payments were also made on 1st January every year. On 2nd January,
2018, X died. Interest was allowed @ 6% p.a. on balance amount.
Prepare Annuity Suspense Account.

NM-43 B
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(10}
Frder : W W 16 @@ 17 deaes v €1 vls v W 8 3% Friifa € e
WA W Afafe faweg €
Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries

8 marks. Each question has an internal choice.

U-16 T, T 3R wRa & o F agen €, < am-nf a1, s
AR /6% sam & @ &1 31 fedwy, 2016 B I Faga Fregar o

LUL | Rut waftrat af
(%) (%.)
AR 8,000 | UI%s. 15,600
&% afufasd 3,600 | Tafaw =R 13,000
R HE 12,000 | @Y 17,000
ot - L 3,000
9 - 20,000 % ITER 3,500
T - 10,000 %. L] 11,500
NRE - 10,000%. | 40,000
63,600 63,600

wr@ 3 3 571 s wew fiea awr w diw # Prefafen wriee
fage:

(i) Y F e ¥ 10% gfe it I

(i) TR W 5% v sfefea ) W)

(i) TR W 5% FEA O WG T A |

(fv) ot WY mf w1 v 12,000 %, &)

ST 31 e, 2016 W gT{ERE W IR ARt ¥ it wm v
t [4+4=8]
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Ram, Laxman and Bharat are partners in a firm sharing profit and
loss in the ratio of /2, V/3 and /6 respectively. On 31 December, 2016
their balance sheet was as follows :

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 8,000 |Cash 15,600
Bank Overdraft 3,600 |Sundry Debtors 13,000
General Reserve 12,000 |Stock 17,000
Capital : Machinery 3,000
Ram  -Rs. 20,000 Furniture 3,500
Laxman - Rs. 10,000 Buildings 11,500
Bharat - Rs. 10,000 40,000
63,600 63,600

Bharat retired on that date and following adjustments were decided :
(/) Value of Stock was increased by 10%.
(i) Depreciate Machinery by 5%.
(iii) Create reserve for bad debt at 5% on debtors.
(iv) Value of Goodwill of the firm is Rs. 12,000.
Prepare Revaluation Account and Partner’s Capital Account for the
year ending 31 December, 2016.
ST
OR

x s v ok A i € sl w-w e 30 ¥ sgem A FR
£ 31 31 Ry, 2017 W Wl @ w0 w1 e R -

fazer frerqom @

e o wafvrat ftr

(%.) (%.)
AN 2,700 | FE A=y 3,000
WH Y 3,000 | ¥TWR 1,000
Y ®m 3,000 | wme 19,700
Yoft: X 12,000 %. v 9,000

Y 12,000% | 24,000 '

32,700 - 32,700

NM-43 B P.TO.
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wn-17

[121]

S R
2R 900 ., U 18,000 T, U1 WA 7,200 T, 1 R F FA T A
2,600 %. fran v, gt =4 500 %. §U

el @ @ wwerl o amm e [5+3=8)
X and Y are partnersinaﬁrmshaﬁngproﬂtlnd loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as follows :
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 2,700 |Cash at Bank 3,000
General Reserve 3,000 |Debtors 1,000
Y’s Loan 3,000 |Plant 19,700
Capital : X Rs. 12,000 Buildings 9.000
Y Rs. 12.000 24,000
32,700 32,700

Following were realized from assets :

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Creditors
were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs. 500.

Prepare Realization Account and Partner’s Capital Account.

wam fafeE 3 100 T TR 10000, 8% WONA Friftm fivg) sz w
10 5, 3T W 20 5., WO I WX 40 . 91 St areen W 30 %, Ui
WO %t T A oftr it ) it oferd sereee a6 W)

el % gemt F vt wiafedl #ifg) [1+1+1+1+1+1+1+1=8]

Samta Limited issued 10000, 8% debentures of Rs. 100 each, Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first

ulldes.Sﬂperdehentureonﬁmlull.Allammntswmduly
mhd.?mlmd&ﬁqipmeboohoﬁhemnpmy.

NM-43 B
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OR

uw faftE St ¥ 10 5. A& 10000 31V, 4 T Wi 3w Wiftrgw T fnifim
v | of =t weer =l g .

AT W 4 3, Wi stw (i 1 %)

e W 3 % Wit sfw (it 1 %)

WYR e W 4§, Wi v (AfEw 1 %)

3ifts areen ) 3 . Wi 3w (At 1 %)

ﬂ%@ﬂmmmﬁﬂ|Mﬁwﬁmmm
|

A limited company issued 10000 shares of Rs. 10 each, payable at
premium of Rs. 4 per share. Amount payable as :

On Application Rs. 4 per share (including premium Re. 1)
On Allotment Rs. 3 per share (including premium Re. 1)
On First Call Rs. 4 per share (including premium Re. 1)
On Final Call Rs. 3 per share (including premium Re. 1)

All amounts were duly received. Pass necessary Journal Entries in
the books of the company.

WIE-( W) / Section-(B)
farefra favarroit wr frydreor
(Analysis of Financial Statement)

Adyr : W W 18 T 19 SfreEedy v € vlw w1 3w fifa §

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries 1 mark.

wa-18 Wt frwe g (1]
Choose the correct option :
i farg fae we s d -
() TV W (m) o=

(&) AaTmasfI = (%) T AR

NM-43 B o -RT.O.
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Break-even point depicts :

(a) profit (b) loss
(¢) no profit no loss (d) gross profit
w-19  forw Joit @ ol = Frfwa T fem o w2 (1]

From which capital the company cannot issue the shares?

fder . W Wi 20 A 22 T TEEEHT wE €1 WAE WA W 4 3w Fifa €
e TR W Finf e ¥ :
Instruction : Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. Each question has an internal choice.

wy-20 Frefafes feaol @ yaem  wra 5 St o Fifeg

ad 2017 ud 2016
feraor
(‘. )' ( " )
¥R 15,000 12,000
T =g 3,000 1,000
qizd =g 2,000 2,500
FRR 13,000 15,000
¥ 2017 % AT =W ¥ 25,000 F. |
From the following information, calculate Cash F low from
operating activities :
Particulars Year 2017 Year 2016
(Rs.) (Rs.)
Debtors
15,000 12,000
Outstanding Expenses 3,000 1,000 -‘
Prepaid Expenses o
, %000 2,500
: 13.000 15,000

Profit during the year 2017 was Rs. 25,000.

1-43 B
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s gl e St ROl s N s o Bl ot |

arerar
OR
ﬁnwﬁﬁmmaﬂmz_mwﬁmﬂM:
31-3-2017 | 31-3-2018
faaror
(%.) (%.)

w-w1 | 1,20,000 1,10,000

TR 62,000 50,000

aw feta 42,000 24,000

qHEE W 4,000 8,000

ARR 38,000 26,000

=l 76,000 80,000

Calculate Cash Flow Statement from the following information :
31-3-2017 | 31-3-2018
Particulars
(Rs.) (Rs.)
Profit and Loss Alc. 1,20,000 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42,000 24.000
Prepaid Insurance 4,000 8.000
Creditors 38.000 26,000
Goodwill 76.000 80.000
woR-21  U%g v faaror % W wR st fafaw [1+1+1+1=4]

Explain any four objectives of.Cash Flow Statement.

aerar
OR
T5g vare faaw ol sy wamw famw F i fafeg (v W)

Differentiate between Cash Flow Statement and Fund Flow Statement
(any four).

NM-43 B - PT.O.
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wn-22  Prefifon gemell @ wwe s I wif (4]
WY (W) 26,000 7., TR 20,000 T, W faw 6,000 7., AW W
THR 3,000 T, TEOW VWS 20,000 T, SRR 30,000 ¥., ¥ fauw
18,000 ¥, ¥=% afufrwd 2,000 5.

From the given information. calculate Current Ratio :

Stock Rs. 26,000, Debtors Rs. 20,000, Bills Receivable Rs. 6,000,
Advance Tax paid Rs. 3,000, Cash in hand Rs. 20,000, Creditors
Rs. 30.000, Bills Payabie Rs. 18,000, Bank Overdraft Rs. 2,000.

ear
OR

ﬁqm%mmﬁmmq:

w29 1,40,000 7., wriviter ot 1,80,000 .,
TR 3,000 7., Wi 1,10,000 .

Calculate Quick Ratio from the following detais :

Current liabilities Rs, 1,40,000, Working capital Rs.] 80 000
Creditors Rs. 3,000, Stock

Rs. 1,10,000.
Frdyr mmzsmmumhmmwsdtﬁnmutmm
faweg aqemy ¢
Instruction Question N, 23 s long answer type question, T
- This question carries
6""""-“'Nilitl\asm||'|le|'|nl choice "
Wt-23  farehe ol & ' -
Explain the iy mmmm(ﬁ )\ (1+1+1+1+141=)
Poriance of analysis of financial Statemens (
y six),
NM-43 B



https://www.studydiscuss.in

117]
Srerar
OR

fadfra faraoil & favdrao 3} dimd wagme (8 99) 1
Explain the limitations of analysis of financial statements (any six).

WUE-( W) 7/ Section(C)
TG AT

(Computer Accounting)

e . WE WHI® 18 T 19 SREgETda v €1 v@s ¥A W 1 3% Fraifa €
Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries | mark.

wrr-18  WEl famew gfng : [1]

Choose the correct option :
weagzliga duie ¥ :

(37) WiRAT

(%) Tadw

(%) A

(z) v Al
Compulterized Accounting is:
(a) Sofiware

(b) Database

(¢) Hardware

(d) None of these

N". ‘ 3 B HT.O-
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| 18]
wH-19 mmwﬁmmmmt? (1

What is called permanent memory of computer?

Lt :mmmﬁzzﬁaﬂaﬂﬁﬂmﬁwﬁﬁmﬂummfﬁatl
mmmmﬁmtaﬁtmaﬂmmﬂmxwh

Instruction : Question Nos. 20 to 22 arc short answer type questions. Each question

carries 4 marks. Each question has an internal choice. Maximum

word-limit of answer is 75 words.

WE-20 TR Ve yonel & i wR o W | [1+1+1+1=4]
Explain any four advantages of Database Management System.
rer|ar
OR
Trerdw ey et 3 Pifir st 9w (R W) |
Explain various applications of Database Management System (any four).

w-21 R W R R e frivasl @ wemm)

| [1+1+1+1=4]
Explain any four main characteristics of computer.

T
OR
FEA W TR 3 SR i
Explain types of computer on the basis of ﬁmclimmiity.
22 VP - o e Pt o

Write any four ¢ - [1+1+1+1=4]
haracteristics of Electronic §
Preadsheet,

NM-43B



https://www.studydiscuss.in

OR

R frar-v ) 9 wn sl fafeg)
Write any four utilities of Electronic Spreadsheet.

fdor . W T 23 Adawda wer € v e W6 aiw Praffa §1 R W iR
farmeg €1 S o siftvsan w125 W €

: Question No. 23 is long answer type question. It has been allotted

6 marks. It has an intenal choice. Maximum word-limit of answer is
125 words.

Instruction

w23 el ot YR ¥ dEieT e wedw a1 ¥ s # TR 9 Wil
fafay (¥ &) | [1+1+1+1+1+1=6]

Write the points which should be kept in mind before taking any kind:
of accounting package software (any six).

arerar
OR
- ¥ wZH W THERY (P 7)) |

Explain the factors of Pay-roll (any six).
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<1 qraTeh A / New Syllabus ‘
( )

T W # WS : 17+64+6=29 )

(e g 0 i : 19

Total No. of Questions : 17+6+6=29 ] | [ Total No. of Printed Pages : 19
K-202301-C
fowa : ST
Subject : Accountancy
w4 : 3Wee | [ quis : 80
Time : 3 hours ) [ Maximum Marks : 80
wgeaqul e : () vE- i avdl F fafe §—(3), (W) @ (W)

Important Instructions :

Question paper is divided in three Sections—<(A), (B)
and (C). '

(i) &E (3 F ol v v wou st €
All questions of Section (A) are compulsory.

(i) &g (W) W@ (V) ¥ A B it v wvE @ vt
Solve any one section from Sections (B) and (C).

(iv) Y% avE & wht v & T & § e W
L 114 :

Write all answers of each section in same place.

(v) s wee-dm W et fak dsiftes Wil & fg ¢
Maximum word-limit is only for the theoretical questiong_

NM-43 C
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|UZ-(3) / Section-(A)

ARt Wl qur SRl & R eraisT
(Partnership Firms and Company Accounting)

e : @UE-(3) ¥ o e wht vhurfhdt & fog afEdf EL v FEIE 18 6
e AfoergETid v €1 ylw w W 1 3w frwita &) 0 T S IR
1R 19 ¥ ¥ A v i &1

Instruction - All questions of Section-(A) are compulsory for all students. Question
Nos. 1 to 6 are very short answer type questions carrying | mark each.

Answer these questions in / word or / sentence and also include objective
type questions.

'ﬁﬁam: :

Objective type questions :

TH-1 WERH e F e R S T A AN AR EOA R : [1]
(3) 10% =ifdw |
(=) 8% aftw
(%) 5% afds
(3) 6% ==
In the absence of Partnership Deed, interest on partner’s loan is payablt; :
(@) 10% p.a. o |
(b) 8%p.a.
(¢) 5%pa.
(d) 6% p.a.
V-2 RO R - | (1
(37) weft % ATRR - -
(=) wvrh & @i
(9 worft & e
() =& = =
Debenture-holders are :
(a) creditors of the company
(6) owners of the company
(c) customers of the company
(@) None of these
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Instruction : Question Nos. 7 to

-7

NM-43C

13]

iR el & ST e AR T ¢
(37 ST TEU T I TR

(7) wit wEdl W et |

(%) sy F wEAvA R

(7) sofw ot
Apumacmnﬁreﬁomthepnmashipﬁm:
(@) by giving notice of retirement

(b) by the consent of all partners

(c) as per the provisions of the deed

(d) All of the above

w1 RO w0 R W w2
Can debentures be forfeited?

s wEw W T ¥ e § weiia amr W wRell % W
Frgar ¥ e §?

At retirement the general reserve shown in balance sheet is distributed
among the partners in which ratio?

e T Hw wen s €2
When is Realisation Account opened?

(1

[1]

(1]

(1]

;W WA 7 R 10 0 TgRea v €1 W W W 3 s PR #1 3w

=l e w=-dm 50w &)

carries 3 marks. Maximum word-limit of answer is 50 words,

Z 8.3 T ¥ 150 39 w1 o W 10 ¥. 5f 319 of wwan sprar

R R, SR W 3 5. W oA 4 T SR o

» 3 - - Wia 3w sifery o 53
mwmwmmm;zﬁ.mmﬁmtmﬂm
s Yol wikfiat sifg) ,

10 are short answer-type questions. Each question

3]

PT.0
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wF-10

frer

(4]

<t foan) ol TR
w o 3 10 % AW zmm"“m:ﬂ fufedt s [1%+1%=3)

Wmﬂﬂtlmﬂﬁgaﬂim e
A company issued 25000 equity shares Of KS- 10 each 1o meal
Whole amount was received in jump-sum. Pass necessary

Entries in the books of the company.

wmﬁwmw,oms.ﬂm?ﬁﬂuﬂﬁmt;*wﬂ
ﬁ‘wov.mﬁn%mﬁlmmugnimmaﬁgaﬁﬁ m{l%*’l'/:":i]
yeit whafeat s

Durga Limited purchased a machine for Rs. 99,000 from Raj Traders

and for its payment issued 11% debentures of Rs. 100 each. Pass

necessary Joumgl Entries in the books of Durga Ltd.

o TR ¥ v @ frga 0 & W @ w e [1+1+1=3]
Wﬁteanythrureuomforﬂlemﬁmmtofapumﬂﬁm a firm.

W WA 11 @ 12 wgEeig v §) TR T W4 siw frffa €1 7@s
T W S fawed €1 TR ¥ sAfuwan wR-dm 75 v ¥

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

¥-11

carries 4 marks and has intemal choice. Maximum word-limit of answer
is 75 words.

T ol W & o wen €)1 Tl 2018 W I TR R
25,000 %. &I 20,000 5. o1 ¥ Lot T 8% Wiy =ad =t =X | = fem
e & A I SO W 12% AN IR e 1w X 1 e, 2018
N 10,000 T, B W WU F ¥ A &Ry w@wmw 5,000 5. wifE FT =
Ffamrlt § ) 3% SETIH TR FHA: 600 T. A 500 T, TGN W1 31

fereia, 2018 1 T T T AV ITYT TR 3 7 25,000 a1 1 e
2018 w1 wM-wf Friem am AR

Ram and Shyam are partners in a firm whose cani

2018 were Rs. 25,000 and Rs. 20,000 mmcuc::l;u'll‘shoc: ;:::::3&
interest on capital @ 8% p.a. and interest on drawings is charged
@ 12% p.a. Ram gave Rs. lﬂ,ﬂﬂﬂtoﬁteﬂrma'aloanon Ist J
2018. Shyam is entitled to get an annual salary of Rs. 5,000 lnler:yt;

(4]

- charged on their drawings were Rs. 600 and Rs.

The profit for the year. ended on 31t :::0 ;?lpectively.
making above adjustments was Rs, 2s, OOOD. ccember, 8 before
Appropriation Account for the year 2018, pare Profit and Loss

NM-43C
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(5]

Hear

OR ‘

A, B 3R C WRRR ¥ 131 A, 2018 9 71w feagay Freffaa o <

EUS T LU weatrat o

(%.) (%.)
TR 3,000 | Wi 1,200
st wreR 400
A - 2,0007%. Y 2,650
B - 1,750%. TRR 3,780
C - 1500%. 5250 | Iws 220
8,250 8,250

1 3ls, 2018 A D TR W IR F vaw 3 ¥ fag B el w

TEHa Y ¥—

() =% 1,500 . Tl ¥ fag T 1,800 %. Joit ¥ ferg e = |
(if) R Qe TR SR WA 950 . 3R 380 %, it v |
(iii) Y T T 450 T. TG T
TN-FI SRS @ e

A, B and C are partners. Their Balance Sheet as on 31 March, 2018

was as under :

Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 3,000 |Machinery 1,200
Capitals : Furniture 400
A - Rs. 2,000 Stock 2,650
B -Rs. 1,750 Debtors " 3,780
C - Rs. 1500 5,250 |Cash 220
8,250 8,250
On Ist April, 2018, they admitted D for equal shares on the following
conditions—

() He will bring Rs. 1,500 for Goodwill and Rs, 1,800 for Capital in cash.

(i) Machinery and Furniture were valued Rs. 950 and Rs, 380 respectively.
" (itf) Value of stock be increased by Rs. 450,

Prepare Profit and Loss Adjustment Account.

NM-43 ¢
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(6]

WI-12 T ST Sl -t e # st e (19 | [1+1+1+1=4]
Differentiate between Sacrificing ratio and Gaining ratio (any four).

Srerar
_ OR
A @ R ferdrasll W TR
Explain any four characteristics of Partnership. | |
frdor :mmuﬁwwmﬂwmtmﬁtmmaﬁmtl
TS W W iR fawey ¥
Instruction

: Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

w13 T B ¥ fawen ¥ Prefufen gaenell A vt wiafesl i :[1+1+1+1+1+1=6]
() & sfofes s & g9 §1 1,500 F. ) '
(i) e = F 1,000 T FHY|
(iif) R P wgeh @@ ¥ wriaRa fem o W ¥, @ 48,000 T

ay e T

(iv) 7,100 %. I[E4 mm}u@uﬁﬁmmqw

¥, 3\ T URER B 1 5,000 5. ¥ & ferm)

(v) iR Rl et 3 variafa e g€, % 30,0003, YA

- fam

(vi) e TR TN 12,0007 BIRD A 7 : 5% v o ity

Pass Journal Entries on the dissolution of a firm from the given informations :
() Rs. 1,500 realized from an unrecorded asset. |
(if) Paid dissolution expenses Rs. 1,000

(iff) Debtors transferred to Realization Account realised Rs. 48,000

(v) Stock Rs. 7,100 transferred to Realizati

ition Account
over by a partner B for Rs. 5,000. ; WAS: faken
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(71

Sreran
OR

xmrwﬂtmtlﬁtﬁmﬂtmmtﬁltm
it wfafeal SR :

()] wmfaﬂzm#muﬂrs.mm

(if) TRt W 3,000 T, TR F THC

(iif) o ford e wR ¥ it fewm g e, 2,000 T, 3 =1 TN
(iv) Tafrril § 10,000 T FGE EA!

(v) fawes =54 % 800 3. THIY I

(vi) e ER % T 6,000 T X AR y# 3 : 1% fafia fmm wmm ¥

X and Y are partners in a firm: Pass Journal Entries when the firm is
dissolved on the following conditions :

() Amount realized from an unrecorded asset Rs. 8,000.

(i) Rs. 3,000 were paid in cash to creditors.

(iif) Stock transferred to Realization Account was sold for Rs. 2,000.

(iv) Rs. 10,000 were realized from investments.

(v) Dissolution expenses paid Rs. 300.

(vi) Profit on realization Rs. 6,000 is shared by X' and Yin the ratio of 3 : 1.

wA-14 T H L, M AR NI & wRer €131 REwg 2014 M WOy
# 81 v fafa w3 20,000 T 27 41 7% Frofa feran v 6 e of
5,000 T. F FEH! GR1 WY T PR B R | W P 1 S,
2015 = fean T A v o S e 1 el R YT M F
i o g 2 IFEd, 2017 W @ ) wR o e 9w W 6%

affds 3 =0 A W F A N AR S AR ARG [24242=6)

L. M and N are equal partners in a fim. M died on 31 December,
2014. On this date, amount payable to him was Rs. 20,000. It was
decided that this amount will be paid by annuity of Rs. 5,000 to be
paid each year. 'Iheﬁrst_gaymentwa.smade on 1st January, 2015 and
other payments were also made on 1st January every year. On 2nd
January, 2017 his legal representative died. Interest was allowed @
6% p.a. on balance amount. Prepare Annuity Suspense Account.

NM-43
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(31
arerar
OR

X vydrnz wmﬁﬂmt,ilam-mﬁmﬁmszzntm
Y @ €11 Sad, 2014ahxmmmtlmﬁﬁﬂtzﬁ
20,000 %, ¥4 4t | 7€ Frvfa foran 7 6 % TR 3,000 &, Wi ARl TR
T # A | W T 1 SEEd, 2015 W e T aa wi o o

T i 1 S ) R T 2 SEd, 2018 B X ® O @ at ¥

o o i AW W 6% e 3 < A sg /) Torn 1Y et ¥
it I9=1 @ TR [1Va+1%+1%+1%=6])
X, Y and Z are partners of a firm sharing profit and loss in the ratio

of 3:2: 1. On Ist January, 2014, X retires from the firm. On this
day share of amount payable to him was Rs. 20.000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each
year. The first payment was made on 1st January, 2015 and other
payments were also made on st January every year. On 2nd January,

2018, X died. Interest was allowed @ 6% p.a. on balance amount
Prepare Annuity Suspense Account.

wW-15

. Pasg
the company.

NM-43 C T e
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OR

¥ fafirzz 3 100 3. AR 4000, 5% A 10 T WY TS Wftvam vt iy
R frifva frg—adga W 20 ., a1 W 50 3. (Aftvw wfes) wa
A I R Wt S 3 T ST Wi g ot i gureT s )
% | S W gl F dei et Sifag)

Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.
Abplications were received for all debentures. All money were duly
received. Pass Journal Entries in the books of the company.

frder : mquﬁwﬂmm!lmmmsmmhm

W W Al faweg #)

Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries

8 marks. Each question has an internal choice.

WA-16 T, T IR WA O W wden €, s em-w e /2, 1/3
3 /s % o A R €)1 31 R, 2016 ! I7 fagar Fr=irpar o

LUC ] Tt Hafergt LUt ]
(%.) (%.)
BER 8,000 i’ﬂ.‘! 15,600
&= Ffufeerd 3,600 m m{ 13,000
T HE 12,000 | why 17,000
Ioft - i 3,000
T - 20,000 %. ITEHT 3,500
¥ - 10,000 %, a1 11,500
MY - 10,000%.| 40,000
63,600 63,600
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Haan

OR

X3l ymﬁﬂmtmm-mﬁmﬁwsntmﬁm
£ == 3) feE=, 2017 F TR T F0 W e ) .

faen fremgan o :
— ot wufvral afe
(%.) (%)
AR 2,700 | ¥ ¥ %3 3,000
T Y 3,000 | WK 1,000
Y &R 3,000 | we 19,700
ot : X 12,000%. oA 9,000
Y 12,000%.| 24,000
32,700 32,700
e & e e g

TFRR 900 F., TWAITZ 18,000 T. AU WA 7,200 %. | AR F Fo1 W o
2,600 %, f&an T, wEER =44 500 %, §UI

e @ v wReEnl w1 $of @ mm [5+3=8]
X and Y are partners in a firm sharing profit and loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as follows ;
Liabilities Amount Assets Amount
(Rs.) (Rs.)
Creditors 2,700 |Cash at Bank 3.000
General Reserve 3,000 |Debtors 1'000
Y’s Loan 3,000 |Plant ]9!700
Capital : X Rs. 12,000 Buildings 9.000
Y Rs. 12.000 24,000 .
| 32,700 32,700
NM-43 C
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Following were realized from assets

Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Creditors

were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs. 500.
Prepare Realization Account and Partner’s Capital Account.
WA-17 O fafis w3 10 5 AR 10000 35, 4 %, Wi 3w sifm W Frifia
farw 1 of fret weem wivit g -
AAZA W 4 %, Wia 3w (Wifmm 1 %)
A W 3 %, wfa siw (Wifimm 1 3.)

WYR 919N W 4 5. Y 3w (vifis 1 %)

3ifem are W 3 5. i 3 (Wifiem 1 %)

T Tl T T R T ) e W Tt F v e sfafet
Hifag | [I+l+[+l+l+|+|+1=S]

A limited company issued 10000 shares of Rs. 10 each payable at
premium of Rs. 4 per share. Amount payable as :

On Application Rs. 4 per share (including premium Re. 1)
On Allotment Rs. 3 per share (including premium Re. 1)

On First Call Rs. 4 per share (including premium Re. 1)

All amounts were duly received. pags hecessary Journal Entries i
i
the books of the company. "
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113]
srerar

OR

o fafire® 3 100 & WA 10000, 8% moryd Frifia few) e w
10 %, AAEA W 20 %., WO ATl T 40 . A1 iR A=W W 30 F. Wiy
waﬂuﬁuﬁmﬁﬂnfumﬂuﬂﬁmmﬂﬂl

st 8 e o o waeal FR

Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first
call and Rs. 30 per debenture on final call. All amounts were duly
received. Pass Journal Entries in the books of the company.

WUE-( W) / Section-(B)

farsita fearoit =T faydiwor
(Analysis of Financial Statement)

frdwr | : W w18 T 19 AfeEen v € @ v W 1 3w Pifa €

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries 1 mark.

w-18 W fasen g
Choose the correct option :

ey W A e €
(3 1n
(F 21
(7 31
() 41

(1]

The ideal liquid ratio is :
(@ 1:1
(b) 2:1
(e) 3:1
(d 4:1

NM-43C e
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[14]
[Va+Ya=1]

w-19 =i Sfa ¥ 2 g fafe

Write two examples of current liabilities.

fger

Instruction :

. W AT 20 @ 22 7 FgIeN wE &) WOE W W4 siw frvffa &1
% YA W A faweq ¥

. i
Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. Each question has an internal choice.

wr-20 Frefafen fraol | yaem A wa 3% B o ST [4]
ad 2017 ad 2016
(¥%.) (%.)
TR 15,000 | 12,000
HEw =9 3,000 1,000
v =1 2,000 2,500
AN 13,000 15,000
T4 2017 % AT TV FI 25,000 . |
From the following informati
rom- ¢ following information, calculate Cash Flow from operating
activities : :
Particulars Ye:;:on Year 2016
) (Rs,)
Debtors
e 12,000
Outstanding Expenses 3.000
' 1,000
Prepaid Expenses 2,000
Creditors ' 2,500
i 13,
. = 15,000
Profit during the year 2017 is Ry 25.000
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[15]

Haar
OR

g ol @ e R @ Jg AT Y O P :

31-3-2017 | 31-3-2018
famm (%.) (%.)
S — 1,20,000 1,710,000
IR 82,000 e
3w feum 42,000 24,000
W m 4,@ S.OW
A 38,000 26,000
m 76}@ Bolm

Calculate Cash Flow Statement from the following information :

31-3-2017 | 31-3-2018
Particulars
(Rs.) (Rs.)
i Profit and Loss A/c. 1,20,000 1,10,000
Debtors 62,000 50.000
Outstanding Rent 42,000 24.000
Prepaid Insurance 4,000 8,000
Creditors 38,000 26,000
Goodwill 76,000 80,000

-2 Frefafen el | e s am sifm .
Y (VF) 26,000 %, TR 20,000 ., WG AT 6,000 %., 3fim

FUIHA 3,000 7., TR IHF 20,000 T, TR 30,000 5., 27 faqy
18,000 ¥, &% aAfufad 2,000 %,

(4]

From the given information, calculate Current Ratio :
Stock Rs. 26,000, Debtors Rs. 20,000, Bills Receivable Rs. 6,000

Advance Tax paid Rs. 3,000, Cash in hand Rs. 20,000, Creg;
Rs. 30,000, Bills Payable Rs. 18,000, Bank Overdraft Rs ’2 lilOl'.i“m.!i

NM-43C
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|Tlﬁl
e
OR

1 el e STUR R A BT :

Wm 1.‘0,“ F" m ﬁ 1980)m F‘!
FER 3,000 ., TIF 1,10,000 T.

Calculate Quick Ratio from the following details :

Current liabilities Rs. 1,40,000, Working capital Rs.1,80,000,
Creditors Rs. 3,000, Stock Rs. 1,10,000.

WH-22 %% vaw faew & @ ww tw fafam) [1+1+1+1=4]

Explain any four objectives of Cash Flow Statement.

raar

Differentiate between cash flow statement and Fund Flow

Statement (any four).
frsr mmzsﬁ#mﬂwmtlmmwsmﬁﬂfﬂatmm
ooy Iyem #
Instruction

Cial statem
Mo ents (any six),
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wug-(|) / Section(C)
wHETT NAET

(Computer Accounting)

e : mm1s@19mmtlmmm1mmﬁﬂh

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each

question carries | mark.

ur-18 W@ fewes g (
Choose the correct option :

THAITR-waRTE an t?

(37 w=E

(7) Foiwee

(W) wHIR

(?) = dom o

Which of the following is an output device?

(@) Mouse

(b) Keyboard

(¢) Monitor

(d) CPU

wr-19 R 2 o sl % ke

[Yat+Yi=1)
Write the names of any two application softwares.

NM-43C
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e

. W wEiE 20 @ 22 7% wgsead v €
T T W A e & ol IR Y SAfurR TR Sl

ions. Each question
Instruction : Question Nos. 20 to 22 are short answer type questions. E2chl g

u¥i-20

w-21

w¥i-22

i . : -limit
carries 4 marks. Each question has internal choice. Maximum word

of answer is 75 words.
T H HTAN I SRR A T [1+1+1+1=4]
Explain types of computer on the basis of functionality.

3rear

OR
T F) i WR wy Pl ) wR)
Explain any four main characteristics of computer.
SRIAW oY Joieh & fafi= rgwnit # wweme (9 W) | [1+1+1+1=4]
Explain various applications of Database Management System (any four).
rerar

OR
Mﬁumtﬂ#ﬁmml

Explain any four advantages of Database Management System

TR R 9K W v fefar

[l+|+l+l=4]
Write any four utilities of Electronic Spreadsheet

Sreray
OR
TR - 3 R ) R g,

Write any four characteristics of Electronic Spread heet

NM-43C
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